EARAROBREBRT —5 XN—ZXBISH—F 2023548178 (B) 1EEH5H

mzj—j L—J8 C12 HS5%—% (s | memE - | g w0 s
[xE&] 15:420,000H  23%&:147,000H  3%&:84,000H  4%&:42,000H  53&:21,000H
FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
557 —~ILIRD i 7 E%Iﬁﬂf 1:(4_5).6 4-4-3-1 | 40.9| - 1 :1;&27) Eg%g (E£H)
R:RU=LVv—Z— B:I3FA—X35M4Y FEtE RIS
F—ILRIATY # 5 gg%ﬁz 1:&9).4 6-6-8-7 |40.0 — | 2 4+41 gﬁ%ﬁ;’ (##)
R:O—IRA A &N+ (+1) HO%S
“_ st . _8_f— - BOBE (&N
O—RS5L7 # 7 | RESE 196 9-8-6-5 | 40.5 7 (4_638) BOe (S22
R:0—RAFO7 B:FebLTo—1 TATAT7—L
~,= gy REFE 3 -5-5- - HRRIGER (S24)
L—USA RRAH * 5 | BE 1.(52(;.0 5-5-5-6 | 41.7 5 :1})()7) gl A
RiTT/—X) B:L—YS4A MRRA =t
\ ~ RIEIE :50. -2-2- . - KAGEIK (F41)
517|7 | FVYI/Ta4—=2 * 5 £~52.0 (1,—;55(,)70) rrr2 |41 4 (4_322) ﬁ{qﬁmﬁ% a
R:D—=)VRI—R B:IT/IARS VY HE%S
o <~ N A — . -4~ —_ D_ ﬁ N
6lglo|/SOYyyTF—< % 5 ’f:éﬁ_o/u 1.(533.6 3-3-4-3 | 43.5 9 (4+412) %§§§ (E5HY)
RIAYYTSyya B:Ea—IhTT HB8T7—L
5 8 5 | BAEB 1:50.8 7-7-7-8 | #1.5| — 3 480 |EEHIER (%)
7155 | A—EIL 54.0 (3/4) (-10) | PIBFELE
RE—UR B:Xy07+—7 L4945 T7—1A
S 7 | #)lEse 1:51.0 8-9-9-9 |4.0| — 6 464 | BEHIES (41
gl 8| FvUh=ILFad H7 ) oy | @ Ir=2hevay
RiFVINAO— BYISIYTF— LLIER%U5
= 4 5 | EEEEX 1:53.4 1-1-1-4 | 46.5| — 8 422 | BHIES (%)
EH 2| IS5FR #53.0 (544) (g | A¥9—=7z=2 (@)
RS /v v—0 BRZI—-TFIvav ARG
@ 1—F—&BIENL
10—7+— 2,7,9,6,3,1,5,8,4
20—+ — 2,7,9,6,3,1,5,4,8
BEIESSES 2,7,6,9,3,4,5,1,8
43—F— 6,7,9,2,4,3,1,5,8
[ BN
B 6 1408 | | DA R 1-6 130 AN 1-6 180M 3R 1-4-6 2,250
BB 6 110M9 4-6 710M F5 EE 1-6 180 3EH 6-1-4 5,160
1 100/ 1-4 1,290M o= 6-1 3004
4 560/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




